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Ninety-eight women and 225 men participated in a five kilometer road race. Below are summary
statistics from Minitab on their times in the race. \

- Descriptive Statistics: Women, Men

variable M Mean StDev Minimom 01 Mediap 03 Maximom:
HWomen 9% (28.893D ( 17.717 24.229 26,917 32.525  48.B00
5. 158 15,060 21.117 24,050 27.608  48.417

Men. 2E5

#1. Santiago finished in 51% place among the men, with a time of 20.9 minutes. Keisha finished
331 among women, with a time of 25.2 minutes. Use percentiles and z-scores to compare
Santiago’s and Keisha’s relative standing among men and women, respectively.
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#2. Suppose the timers of the race discovered that they accidently stgrted the clocf»g 15 seconds

before the race actually started, so that each racer’s finish time should be 15 seconds less. Describe
the impact this would have on the mean, median, standard deviation, and interquartile range.

Mean, decrtase by 1S Seconds
wedas', derede by IS Seconds
stol doy,  ynattected

TR veetfed-ed (e fnbirmct, Sy docs sk athect

weasvrel P f/" ét«xw? )

#3. Use the information in the computer output above to sketch a possible density curve for the
finish times of women in this race. Be sure to provide a scale and label for the horizontal axis.
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Below are cumulative frequency graphs for the age distributions of the populations of France and

the Philippines.
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#4. Use the graphs to compare the median and interquartile range of ages in the two countries.
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#5. One of these distributions is strongly skewed to the right. Which one is.it, and how can you
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